Algebra 2 — Chapter 2 Review
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Find the slope of the line crossing through the two points.
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Find the equation of the line in slope-intercept form. Then convert the equation to standard form.
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10. Find the equation of the line that passes through (4, 5) and is perpendicular to x + 6y = —3.
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11. Find the equation of the line that passes through the x-intercept of 2x — 3y = 6 and is
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Graph the following equations.

12. y=2x+3 13.y = —5x -2 14.-2x-5
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State whether the following relations are functions.
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Graph the following linear inequalities.

22.3x — 4y > 20
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State the domain and range of the following graphs.
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Graph the following Absolute value equations.

29.y=—|x+3|+7 3lly=—|x—-2|+3
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State the transformation of the following absolute value functions from the parent function y = [x].
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Solve the following problems for x.

35. -7 < 8+3x 36.10-2x < -8
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